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N = int (input ("Input: "))
Table 1: =3 oJA] (* ‘Input: ’, ‘Output: 0] RFEA] ZA|E| oo} HJFo g Q1A H)
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* “Input: 7, ‘Output: 0] HTEA] FA|Eojof Hdo g olAH
Output:
5%1=5
5%2=10
5*%3=15
Input: 5 5%4 =20
5%5 =25
5%6 =30
5*%7=235
5%8 =140
5%9 =45
Output:
9*%1=09
9*2=18
9*3=27
Input: 9 9*4 =236
9*5 =45
9*%6=>54
9*7 =063
9*8="T2
9*9=281
Input: -3 Output: -1
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TSt 5, A man, a plan, a canal, Panamal 9} 2 B2 312,02 gl wloof g,

Table 2: &2 A A] (* ‘Input: ’, ‘Output: '0] FIEA] EA|Eojof At o g2 QA )

a4 =9

* ‘Input: ’, ‘Output: '0] HIEA] A E]ojof Ao g oA =
Input: aabbceddecbbaa Output: 1

Input: 1234321 Output: 1

Input: abed Output: 0

Input: A man, a plan, a canal, Panama) Output: 1
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N, M = map(int, input("Input: ").split())

Table 3: 4=2 dA] (* ‘Input: ’, ‘Output: '0] FIEA] TA|Eojof Ao g2 QA=)
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* ‘Input: ’, ‘Output: '0] HIEA] FA|E|ojof At o 2 Q1A=
Input: 0 1 Output: User2 wins
Input: 3 -1 Output: -1
Input: 2 1 Output: Userl wins

A 3 A 0] B4 (Zeller’s congruence) S o] §3ke], AHGALZFH ¢ (year) 7} Y
month)& i, 7 go] 9L st 12 1A A RA Q.

o AGAE ol ZEE AME-OFY] year¥} monthEs ¢ 2Rrotof gt

i

Ol



We AASHL, 21391 49 29 29 200711 Sstelol Gt (o4 A H)

Mo

e calander, datetime 52| Zto]B &g AR FX4]

year , month = map(int, input("Input: ").split())

Table 4: 9159 oJA] (* ‘Input: ’, ‘Output: o] HFEA] ZA|E[ojof o= 17 H)

O 29
* ‘Input: ’, ‘Output: '0] HFEA] FA|E]ojof Ato 7 oA =
Output:
Sun Mon Tue Wed Thu Fri Sat
1 2 3 4 5
Input: 2024 10 6 7 8 9 10 11 12
13 14 15 16 17 18 19
20 21 22 23 24 25 26
27 28 29 30 31
Output:
Sun Mon Tue Wed Thu Fri Sat
1 2 3
Input: 2022 12 4 5) 6 7 8 9 10
11 12 13 14 15 16 17
18 19 20 21 22 23 24
25 26 27 28 29 30 31
Output:
Sun Mon Tue Wed Thu Fri Sat
1 3
Input: 2024 2 4 ) 6 7 8 9 10
11 12 13 14 15 16 17
18 19 20 21 22 23 24
25 26 27 28 29
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Table 5: Y& of|A] (* ‘Input: ’, ‘Output: 'o] HIEA] FA|E|ojof Ado 7 <A H)

a4 9

Input: 24.441 Output: 11000.0111000011
Input: 0.5 Output: 0.1

Input: -1.7 Output: -1

Input: 1.43 Output: 1.0110111000




